RKAXER N+= BEE #2453 WHE
BEBHE RSN RBD BATEER s moa Y .
REARBULALSY FCEMMARL  SIMFI SER R -

[. (a) What are the three methods to represent signed integers? Compare and contrast them. (6%)
(b) Name lwo uses of unsigned integers. (2%)

2. (a) What are the advantages of a high-level language over a machine language? (3%)
(b) Name some high-level languages. (3%) .
(c) What is a source file? What is an object file? What is an executable file? How are they
related? (6%)

3. List and describe briefly the five phases that most system development cycles contain. (10%)

4, (a) Distinguish among LAN, MAN, and WAN. (6%)
(b) What are the three common topologies for LAN? Which is the most popu]’u today? (4%)
(c) What is a wireless LAN? (2%)

5. (a) Explain the differences between an IP address and an email address. (4%)
(b) Is there a one-to-one relationship between the two addresses? (2%)

6. (a) What is booting? (2%)
(b) How is a cold boot different from a warm boot? (4%)
(c) How is memory-resident part of an operating system different from a nonresident part of an

operating system? (4%)

7. Computer users need a lot of memory, especially memory that is very fast and very
inexpensive, But, this demand is not always possible to satisfy. Very fast memory is usually not
cheap. A compromise needs to be made. The solution is hierarchical levels of memory. List and

describe the components that the memory hierarchy may contain. (9%)

8. (a) How is sequential access different from direct access? (4%)
(b) How is a file processing system approach different from the database approach? (4%)
(c) What are the three database models? Which is the most popular today? (4%)
(d) What is SQL? (2%)

9. What does cach of the following acronyms stand for? (8%)

(a) CPU (b) ALU
(¢) RAM (d) ROM
(e) RISC () HTML
(g) FTP (h) WWW

10. (a) How is procedural programming different from object-oriented programming? (4%)
(b) Why is C a popular language among programmers? (4%)
(c) Define the three constructs used in structured programming. (3%)






